1D: Simple as 1-2-3

Solution: the flavor text gives several hints about series of three (seriously, sequences, simple as 1-2-3) and Morse code. The trick is to realize that
each series of three represents a dash, and the extra individual numbers are the dots. (In Morse code timing, a dash lasts three beats to a dot’s
single beat.) Zeroes serve as letter breaks.
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Which spells out “CONNECT THE DOTS.” Using just the dots gives: 19 15 12 21 20 9 15 14 9 19 129 1451 7 5.
This codes for: “SOLUTION IS LINEAGE.” LINEAGE



